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Unit 5 — Conic Sections Test Review

Identify each equation as a parabola (p), hyperbola (h), ellipse (e), or circle (c).
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Determine the direction of opening, vertex, focus, focal width, the value of a, and directrix, then graph
the parabola.
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Write an equation in standard form for each of the following parabolas (DRAW A GRAPH FOR HELP).
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18. focus at (-3, -1), directrix x=5
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Find the center, vertices, foci and the slope of the asymptotes of each hyperbola, then graph.
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Write an equation in standard form for the

22. Center at (0,0): Focus at (3, 0); Vertex at (2,0)

Which equations should you use?
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23. Foci at (-1, 3) and (-1.7); Vertex at (-1, 6)
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Locate the vertices and foci of the ellipse,
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Write an equation in standard form for the ellipse that satisfies the given conditions.
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28. Foci: (-4,3) and (6,3); Minor axis length is 6.

Which equation should you use?
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29.Foci: (4,-2) and (4,6); Vertices: (4.-4) and (4,8)

Which equation should you use?
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Given the standard form of a circle, identify the center and the radius of each circle. Then graph the
circle.

30. x> +(y-1)° =64

] 6) +(y-1)> =20
ceners_( 0 31, (x+6) +(v

center: / . b', f)
radius: \J—_?_O (,' 7—-\;‘5 ,,' 4.Y 7

radius: %

b4

1s|’\
32. Write the standard form of the equation for the R _ +H e
circle. T
Caner:_(a. =tk SEESEnsccasmseRs
Radius: 5 o] -5

; = _

Equation: (\L_’J:} - (3 -[-—L%L =25

Write the standard form of a circle with the given characteristics.

33. A circle centered at the origin with a radius of 7. 34. A circle with diameter of 12 centered at (2,—4)
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Find the midpoint.
35. P, =(2,-4) and P, = (-5,8)

)2, (4 5

Find the distance between the two points.
36. Py = (1,—6) and P, = (-7, 4)

b J(—7-U1+(4-1)"—‘- J(—?)"-t-(wj"*—* Jeu 100 =Nley = (2.

Write the standard form of a circle with the given characteristics. (hint: draw a picture of the circle)
37. A circle with center at (0, -2) and a point on the circle at (3, 0)
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Complete the square to rewrite the equation in standard form. Find the center and the radius of a circle
given by each equation and then draw the graph.
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